RH

DING JING

WENZHOU DINGJING

ZBEY{ TEEIRHETNI LB HH
http://www.zjxudong.com @ @ @

& i 55 & 12 1l i & IR 22 ol

WENZHOU DINGJING TRANSMISSION MACHINERY CO.,, LTD.

itk #T&FHEETHEVEBETIREX

Bi%: 0577-63696111 63183206 63183302 63688355
f£E: 0577-63183306

Mik: www.zjxudong.com

BR$E: 1430756371 @qg.com



PLANETARY GEAR REDUCER

PLANETARY GEAR REDUCER

Z RUREN AR S SNERTE ZB60 RIIREN AR S Z B
Series reducer technical parameters Series reducer technical parameters
i L3
65%65 32 8 e
28 L1
2 25
83 N ﬁ?ﬂ
ool W | Tl
2 L |
a t$_l
: _ , B
e 3
M5iR10/ 4-®55
B S1shiat S2HhiEim
#lSModel B Unit IB&0 | ZB90 | ZB115 | ZB142 | ZB190 | ZB240 | IB280 | ZB330 Stage
e ANFEE Rated input speed min 1 4500 | 4000 | 3000 | 3000 | 2000 1500 1500 1500 1-3 .
BAHARE Maxinput speed min " ! 6000 | 6000 | 6000 | 4000 | 3500 | 3000 | 3000 | 3000 1-3 2= 58] !
iz fEStandard =10 | <12 | =12 =12 =12 =12 <15 =15 . g ’f‘
K@ Precision <6 | <8 | <8 | <8 | <8 | <8 | <12 | <12 ®14 80,5 — (
E172 6 B i7EStandard M4y =12 | <15 | <15 | =15 | <15 =18 <18 <18 5 16 95,5 <24
Backlash | gxmeprecision Arcminute | <10 | <12 | <12 | <12 | <12 | <15 | <15 | <15
i=fStandard <15 | <18 | <18 | =18 | =20 =22 =22 =22 5
fh#Precision <12 | <15 | <15 | <15 | <18 | <18 <18 <18 . Py D2 D3 12 D4 T 4 B(—@) | 1B=@) | b=
=r H .
M Noke level ae 62 65 6 65 68 70 73 s 13 0.2KW 70 4-MAIM5 | @14(F7) 33 50(F7) 5 65 112 129.5 147
FLH A Torsional rigidity Nm/arcmin 1.8 4.4 9.2 26.7 66.7 1233 | 2133 339 1-3 OAKW 70 AM4/M5 B14(F7) 33 50(F7) s 45 N2 129.5 147
7838 Lubrication =3 S5 Synthetic Complex Soap Grease 1-3
i R AZ MR Sy : P SRS AR RRER, LR B AR A B S A R RS aRE A SRR ES.
ERRR -10°C-90C 13
Operating temperature
HEStage 1 2
%3%73 19 Mounting position i 1-3 [t Speed Ratio 3 4 5 8 10 9 12 15 16 | 20 | 25 | 32 | 40 | s0 | &4
BR M@ HMax radial force N 265 440 1240 | 3700 | 4500 | 10500 | 15000 | 17000 1-3
BERHHE (Nm) 20 35 32 20 15 25 25 25 40 40 35 40 35 35 20
A6 1 Max axial force N 200 | 400 | 1000 | 3000 | 5000 | 8000 | 12000 | 15000 1-3 Rated out put torque
1.2 2.7 9.5 20 36 50 110 160 1 wAER (kocr) 0.135 | 0.093 | 0.078 | 0.065 | 0.065 | 0.131 | 0.127 | 0.077 | 0.088 | 0.075 | 0.075 | 0.064 | 0.064 | 0.064 | 0.064
Moment of inertia
EE Weight Kg 1.5 3.4 12.1 25 48 65 135 180 2
19 | 41 | 149 | 30 | s3 72 145 | 192 3 HEstage §
97% 1 L Speed Ratio 60 64 80 100 | 120 | 125 | 160 | 200 | 256 | 320 | 512
i EEMHIRE (Nm)
FEEE Efficiency n 94% 2 Rated out put torque 35 44 44 44 25 30 44 40 44 40 25
1% 3 gaitRE (kgen)
i P 0.076 | 0.076 | 0.075 | 0.075 | 0.064 | 0.064 | 0.064 | 0.064 | 0.064 | 0.064 | 0.064
T H4 Sevice life hrs 20000 1-3 omentotinertia
SR elrclencias il i ¥ ERBARNEHRT, ARRTTREAGAARSES.
04 05



PLANETARY GEAR REDUCER

sMERYE ZB115 EIREN AR S Z B

Series reducer technical parameters

PLANETARY GEAR REDUCER

Z ESRENRASE SMERYE ZB9O

Series reducer technical parameters

Lttt
L3 L3
%6 50 57 15 L2
52
16 L1
3 30 | [ 5 45 | [
L lis]
38 358 —N L
co Qo ) _ I <
[N R AR N I o 3 B AT T L | |_'D 0
2 = |
—
= a \:$_|
1
: 4
_'_._.- 3 ————
M8iR12/ 4-P6.5
S15hEIH S S3flEH S1hEE S2hE S3fLEH
6 10
5 8 I-— 8
1
+ 5 & s =
M \ w | wn oo [ H (=] O_ F/ M_
D) s iz < & @E— R ——t o
| S g 7z )
o ||
@20 4016 B32 8016 (
@22 $o16 @22 8016 b P25 G016 @25 %016 €52
FE FLAL DI D2 D3 L2 D4 L1 L4 L3(—) L3(=48) L3(=48) R AL DI D2 D3 L2 D4 L1 L4 L3(—®) | (=g | (=8
0.4KW 70 4-M4A/M5 | D14(F7) 45 50(F7) I3 85 140 159.5 179 0.75KW 90 4-M5/M6 | DI19I(F7) 57 70(F7) 10 118 204 237 269
0.75KW 90 A-M5/M6 | DI19(F7) 45 70(F7) 13 85 140 159.5 179 1/1.5KW 130/145 4M8  |@22/24(F7) 62 110(F7) 10 128 209 241 273
Es1E RS B EREE U EAERENEIR T HARR S TREREHEATEE. SRS AR RRER, BLE R AR A BAR S SARR ST iREA SRR ES.
if#Stage 1 2
i ¥Stage 1 2
i# tSpeed Ratio 3 4 5 7 10 9 12 15 16 20 | 25 | 28 30 35 40 50
# H-Speed Ratio 3 4 5 8 10 9 12 15 16 20 25 32 40 50 64
FEKEHMAE (Nm)
140 | 240 | 240 | 100 | 90 | 140 | 140 | 140 | 260 | 260 | 260 | 260 | 140 | 260 | 260 | 260
BuERRRE(Nm) 50 90 70 40 20 50 50 50 | 100 | 100 | 80 | 100 | 80 80 4 Rated out put torque
Rated out put torque
“xhifE (kgem)
Rt (kgc"f.) 077 | 052 | 045 | 039 | 039 | 074 | 072 | 071 | 0.50 | 0.44 | 0.44 | 039 | 039 | 039 | 039 Moment of inertia 263 | 179 | 153 | 1,52 | 1.32 | 262 | 2.62 | 262 | 262 | 2.53 | 1.50 | 2.53 | 1.49 | 1.30 | 1.30 | 1.30
Moment of inertia
Zi¥Stage 3 $¥Stage 2 3
#HSpeed Ratio 40 64 80 100 | 120 | 125 | 160 | 200 | 256 | 320 | 512 i# H-Speed Ratio 70 | 100 | 60 64 80 | 100 | 120 | 125 | 160 | 200 | 250 | 280 | 350 | 400 | 500 | 1000
HEHHEE (Nm) HiEHEE (Nm)
120 | 100 | 260 | 260 | 260 | 260 | 260 | 260 | 260 | 260 | 260 | 260 | 260 | 260 | 260 | 100
g i 60 | 110 | 110 | 110 | €0 90 | 110 | %0 | 110 | 90 52 Rois o pit iois
#“E)EE (kgem) #E)iRE (kgem)
sl 0.51 | 050 | 050 | 0.44 | 070 | 0.65 | 039 | 039 | 039 | 039 | 0.39 Niormant Gtinerti 112 |12 | 112 | 192 (112 | 150 [ 150 | 1.50 | 130 | 1.30 | 130 | 1.30 | 1.30 | 1.30 | 1.30 | 1.30
¥ L EAERRNSENRST, HABRSTIREMMEEIR T EH. ¥ L EAERRMENRS, HABRSTIRENEER T EH.

06 07



PLANETARY GEAR REDUCER

SMERYE ZB190 EIREN AR S Z B

Series reducer technical parameters

PLANETARY GEAR REDUCER

Z ESRENRASE SNYRYE ZB142

Series reducer technical parameters

i i Lttt L3
150x150
88 20

86 20
80
65 _,

-0.043
®130-0083 -~
[l
" g
|
|—| |
— |
| @ - |ro
|
D3
D4
e
-0.043
@160_0_083 n

R T
—"1—. +
t¢—l i
—1
=S 5 i / Jﬁ e
M16iF25/ 4-@11 M12i§26/ 4-13
S1iH S2imiEE S3FLE S1H S
12 14
— 12 16
| [ -
e 3 g - o
@ 4 23 : . 1 @ L 9|9 +F
[Te} -
i s [Z 9 | 8
@40 G016 ( ®50 J016
<60 955-3.015 =75
B FLAL D1 D2 D3 L2 D4 L1 L4 L3[—m) L3[ZR) L3(=&) [inkagzck] D1 D2 D3 L2 D4 L1 L4 L3[—E) L3{—m) L3(=)
1.5/2KW 145 4-M8 @22/24(F7) 62 110(F7) 10 128 263 301 333 3/4KW 200 4-M12  |@35/24(F7) 82 114.3(F7) 8 190 308 370 417
3/4KW 200 4-M12  |@35/42(F7) 82 114.3(F7) é 178 283 330 377 5/5.5KW 215 4-M12  |@35/42(F7) 15 180(F7) 8 178 343 401 448
SIS B KRR, LA AR EAR N WA RR S iRE R E AR ER. FS1E RS2 BERREEE DL E AR AR BARS  MA SR R R RN R T E .
S¥Stage | 2 ¥ Stage 1 2
i# [kSpeed Ratio 3 4 5 7 10 9 12 15 16 20 25 28 30 35 40 50 i# [kSpeed Ratio 3 4 5 8 10 9 12 15 16 20 25 28 30 35 40 50
EUEMILE (Nm) R LHRE (Nm)
Rated out put torque 310 605 605 320 250 340 340 340 680 680 680 680 4560 680 680 680 Rated out put torque 1050 | 1780 | 1345 | 750 500 | 1050 | 2030 | 1485 | 2035 | 2035 | 1485 | 2035 | 1050 | 1485 | 2035 | 1485
Hemif (ngcm‘.) 1214 | 7.78 | 607 | 463 | 463 |12.14 | 1237 | 1235 | 7.47 | 6.65 | 581 | 1235 581 | 636 | 528 | 528 b (kgc M,) 156 | 163 | 154 |16.10 | 1520 | 159 | 159 | 159 | 150 | 150 | 157 | 150 | 153 | 152 | 16 15.2
Moment of inertia Moment of inertia
H¥Stage 2 3 F¥Stage 2 3
i# ttSpeed Ratio 70 100 60 64 80 100 120 125 160 200 250 280 350 400 500 | 1000 i#ttSpeed Ratio 80 100 60 64 80 100 120 125 160 200 250 320 400 500 | 1000
BUEiiHE (Nm) 370 270 450 680 480 680 450 680 680 680 680 680 680 680 680 275 AEHAE (Nm) 840 580 | 2590 | 2590 | 2590 | 2590 | 1450 | 1850 | 2590 | 1855 | 1600 | 2590 | 2590 | 1400 | 1070
Rated out put torque Rated out put torque
wRRE (kt‘;;cm"J 4.5 42 7.50 | 7.50 | 750 |7.40 | 730 | 720 | 650 | 620 | 540 | 570 | 5.40 | 520 | 5.10 | 4.90 wEhRE (kgc rn") 450 | 420 | 750 | 750 | 750 |7.40 | 730 | 720 | 650 | 620 | 540 | 570 | 5.20 | 5.10 | 4.90
Moment of inertia Moment of inertia
o L EAEARMEIRY, MASRSRELESEIR ST ES. A RLEAEARNEVRSY, BARRY REEERTIRTES.

08 09



PLANETARY GEAR REDUCER

SMERYE ZB280 RS RN A S Z B

Series reducer technical parameters

PLANETARY GEAR REDUCER

Z ESRENRASE SNERYE ZB240

Series reducer technical parameters

s Lrf ey BING
240x240 L3 L3
108 25 132 25 L2
100 110 L1
5 90 _[[] 5 100 | []
MY WY MY M [g
= o0 = o0 g
oo [a¥=)
90 m o9 e T
[P I S | I S S e L L Lt
o 9 L I_|
2 a _$:|
o t 1
L_L._ ' /7-+—*' / Q_L
M16iE35 4- @22
S15higt SothiEia S1imEE S2ihEE S3FLEEIH
18 20
) ]
28 ) e
2 ¥¥ .@-__ i + T =N
) * 1
8 | 8 %7
@70 303 (
<78 =90
B L DI D2 D3 2 D4 L] L4 B—@E) | 13(=®m) | L(E=E) Eat DI D2 D3 2 D4 L] L4 B—E | (=@ | LBER
3KW 200 AMI12 | @35(F7) 82 114.3(F7) 10 240/178 352 414 474 4KW/5KW 215 AMI12 | @42(F7) 18 180(F7) 10 266/190 456 524 585
AKW/SKW 215 AMI12 | @42(F7) 118 180(F7) 10 240/190 288 450 510 7.5KW/1TKW 235 4M12 | @55(F7) 18 200(F7) 10 264/220 456 524 585
7.5KW/1TKW 235 AMI12 | @55(F7) 18 200(F7) 10 240 388 450 510 15KW 265 AMI12 | @60(F7) 143 230(F7) 10 266/250 481 549 610
SRS B AR, DLE A E AR AR ST A R < T RB A AL R T E S . FEs1E RS B ERRSEE DL B AR RIR T AR REEEETRTER.
F¥Stage 1 2 F#EStage 1 2
FSpeed Ratio 3 4 5 8 9 |12 [ 15| 16| 20| 25 | 30 | 32 | 40 | 50 | s4 | 80 #HSpeed Ratio 4 5 8 12 15 16 20 25 32 40 64
HERHAAE (Nm) FEHEmRE (Nm)
5800 4400 2595 4400 5200 6400 6400 4710 6400 4710 2650 -
Rotod out put torque | 1600 | 3500 | 2640 | 1450 | 1836 | 183¢ | 1836 | 3710 | 3710 | 2805 | 1800 | 3710 | 2805 | 2805 | 1500 | 1500 s i
wEMRE (kgcm) 156 | 163 | 154 | 161 | 159 | 159 | 159 | 150 | 150 | 157 | 153 | 152 | 161 | 152 | 143 | 143 wERE (kogcr) 402 39.9 34.5 18.8 18.8 18.8 18.8 183 16.8 16.6 152
Moment of inertia Moment of inertia
FHEStage 3 FHEStage 3
FSpeed Ratio 60 | 64 | 80 | 100 | 120 | 125 | 160 | 200 | 250 | 320 | 400 | 500 s Speed Ratio 60 64 80 100 120 125 160 200 250 320 512
e
BEMHHEE (NM) | o0 | 3050 | 3950 | 3950 | 1950 | 3000 | 3950 | 3950 | 3000 | 3950 | 3950 | 3000 MEMHARE (Nm) 6400 | 8130 | 8130 | 8130 | se0 | 6030 | 8130 | e030 | e030 | e030 | 2700
Rated out put torque Rated out put torque
#EhiRE (kgem) & (kgen)
Moment of inertia 750 |7.50 | 750 |7.40 | 7.30 [7.20 | 650 | 620 | 540 | 570 | 520 | 510 ol 17.7 17.8 148 148 148 13.5 13.5 13.5 13.5 13.3 10.5
FEr DLEAEAENBAIRY, BARRTREEEBRTIRSTER. F RLEAERERABEIRS, ABRSTREREBANRTER.

10 11



PLANETARY GEAR REDUCER

Z RSRENEASE

Series reducer technical parameters

SIMERTE ZB330

kiR & N
330X330
150 30 L2
120 L1
10 100
MY Y
< 0 :%
o0
go — — 9::
o | 4= — 4 S LN L LR
ﬂ |_ . I [agyal
: s
1
]7-—#—*' 25
M16;R35/ 4-@22
SiipiEd S S3FLEIE
22
l | -
o) s HHE
[ 8 2
@80 8 gz (
<120
ERAT ELAL D1 D2 D3 L2 D4 L1 L4 L3(—) L3[—) L3(=4)
AKW/5KW 215 4-M12 @A2(F7) 118 180(F7) 10 266/190 520 600 611
7.5KW/1TKW 235 4-M12 @55(F7) 118 200(F7) 10 266/220 520 600 611
15KW 265 4-M12 @EO(F7) 118 230(F7) 10 266/250 545 625 686
SES1E S B A BREE DAL B A R AR T AR ST AT RE R A AR < R .
H#Stage 1 2
i# [kSpeed Ratio 4 5 8 12 15 16 20 25 32 40 64
BEmit@e (Nm) 10190 7180 4080 10000 8800 10800 10800 7550 10800 7550 4500
Rated out put torque
otk (kgcm.) 75.1 73.4 62.5 240 23.0 23.8 23.8 23.3 24.0 21.6 18.2
Moment of inertia
H#Stage 3
i#tSpeed Ratio 60 b4 80 100 120 125 160 200 250 320 512
BUERHEE (Nm) 10800 13700 13700 13700 9800 92800 13700 9800 8800 9800 5230
Rated out put torque
R (kgcm.) 19.7 19.8 19.8 18.8 18.8 18.5 17.5 16.5 16.5 15.3 15.5
Moment of inertia

A PLEAERENARIRY, BARRYTRERGERIRTES.

12

INERTE ZBS

PLANETARY GEAR REDUCER

RIVRENRASE

Series reducer technical parameters

ZBS

i PN
L6
L3 c
5 - \ LC
| r\/ N
LA
= FEEEHEE = =l
o T\
E=
) Sl
L5
Be IBS60 IBS90 IBS115 IBS142
L 1 2 3 1 2 3 1 2 3 1 2 3
D1 10 10 10 16 16 16 20 20 20 35 20 20
D2 20 20 20 30 30 30 40 40 40 50 40 40
D3 50 50 50 80 80 80 110 110 110 130 110 110
D4 70 70 70 100 100 100 130 130 130 165 130 130
L1 3 3 3 3 3 3 4 E 4 5 4 4
L2 16 16 16 20 20 20 30 30 30 50 30 30
L3 21 21 21 26 26 26 40 40 40 58 40 40
L4 3 3 3 3 3 3 4 4 4 5 4 4
L5 25 25 25 30 30 30 45 45 45 65 45 45
Lé 129 146.5 164 156 175.5 195 232 264 296 326 327.5 374.5
C 4-M5 4-M5 4-M5 4-M6 4-Mé 4-Méb 4-M8 4-M8 4-M8 4-M10 4-M8 4-M8
B 3 3 3 5 5 5 6 6 6 10 6 6
H 1.2 2 11.2 18 18 18 22.5 22.5 22.5 38 22.5 22.5
z M3xé M3x6 M3x 6 Méx 15 MéX 15 MéEX15 Méx15 Méx15 MéXT5 | MI0X25 | MéxI15 Méx15
LC 65X 65 65X 65 65X 65 B5x 85 B5x 85 85x85 | 118x118 | 118x118| 118x118 | 150x150 | 118118 | 118x118

E: PLEAERENRIRY, BARRTTREREEIRTE.

13



PLANETARY GEAR REDUCER

Z B RIIRENRASE SMERYE ZBS

Series reducer technical parameters

PLANETARY GEAR REDUCER

SMERYE ZBD FSIRENRASE Z BD

Series reducer technical parameters

Bihin PN

D1
—3]
_| !
Cell
s B Sk
J'EvPﬂ_
—3
L2 L1
L3 L7
L5
fila=s 18D&0 IBD90 ZBD115 IBD142
Eid 1 2 3 1 2 3 1 2 3 1 2 3
D1 4-@7 4-@7 4-@7 4-@9 4-@9 4-@9 4-9 4-@9 4-@9 4-@9 4-@9 4-@9
fivk= IBS190 IB5240 IB5280 IB5330 L1 8 8 8 10.5 10.5 10.5 25 25 25 10 10 10
T 1 2 3 1 2 3 1 2 3 1 2 3 L2 28 45 63 51 70 90 71 100 130 109 154 200
DI 40 35 35 50 40 35 40 50 40 70 50 40 L3 45 62 80 70 90 110 105 137 169 130 175 222
D2 50 50 50 75 50 50 80 75 50 90 75 50 L4 78 78 78 101 101 101 135 135 135 165 165 165
D3 160 130 130 225 140 130 250 225 160 290 225 140 L5 90 90 90 115 115 115 150 150 150 185 185 185
D4 215 165 165 265 215 165 315 265 215 370 265 215 Lé 10 10 10 10 10 10 16 16 16 18 18 18
L1 5 4 4 5 5 4 4 5 5 5 5 5 L7 42.5 42.5 42.5 52.5 52.5 52.5 75 75 75 93 93 93
= - - = e w = L o4 - i 5 o e IBD1%0 IBD240 IBD280 IBD330
L3 63 58 58 73 63 58 80 73 63 90 73 63 a8 ) 2 3 1 9 3 ] 2 3 1 2 3
il 2 4 ’ 8 8 4 s 8 3 8 : ? D1 4-@11 4-@11 4-@11 4-@13 4-@13 4-@13 4-@13 4-@13 4-@13 4-@18 4-@18 4-@18
L5 70 65 65 83 70 65 %0 83 70 100 83 70 L 10 10 10 20 30 0 a5 15 35 40 40 0
Lé 352 410 457 413 458 515 444 549 594 478 625 670 12 100 100 150 1o 1o 180 150 150 200 180 230 230
C 4-M12 4-M10 4-M10 4-M16 4-M12 4-M10 4-M16 4-M16 4-M12 4-M16 4-M16 4-M12 3 148 148 200 180 180 240 220 220 270 260 210 310
2 12 = b L [ L L 2 2 & L 2 L4 216 216 216 260 260 260 310 310 310 360 360 360
H 5 - = e i o8 o e o A B s L5 240 240 240 300 300 300 350 350 350 420 420 420
z M10x25 | M10x25 | MIOX25 | M12x20 | M10x25 | MI0x25 | M10Xx26 | M10x20 | M10x25 | M10x35 | MI0X20 | M10x25 L6 18 18 18 20 30 20 20 20 20 a5 35 35
LC |190x190 [165x165 |165x 165 |240x240 |190x 190 |165x 165 |285x285 |240%x240 |190x 190 |330x330 [240x240 |190x190 7 N3 na 13 150 150 150 172.5 172.5 172.5 200 200 200
& M EAERREMBIRY, BARRTTRERERITER. A LB ERARMNEARS, SARR Y TIRER AR ES .

14 15



	171020-卓大减速机
	171020-卓大减速机2
	171020-卓大减速机3
	171020-卓大减速机4
	171020-卓大减速机5
	171020-卓大减速机6
	171020-卓大减速机7
	171020-卓大减速机8
	171020-卓大减速机9
	171020-卓大减速机10
	171020-卓大减速机11
	171020-卓大减速机12
	171020-卓大减速机13
	171020-卓大减速机14
	171020-卓大减速机15
	171020-卓大减速机16
	171020-卓大减速机17
	171020-卓大减速机18
	171020-卓大减速机19
	171020-卓大减速机20
	171020-卓大减速机21
	171020-卓大减速机22
	171020-卓大减速机23
	171020-卓大减速机24
	171020-卓大减速机25
	171020-卓大减速机26
	171020-卓大减速机27
	171020-卓大减速机28
	171020-卓大减速机29
	171020-卓大减速机30
	171020-卓大减速机31
	171020-卓大减速机32
	171020-卓大减速机33
	171020-卓大减速机34
	171020-卓大减速机35
	171020-卓大减速机36
	171020-卓大减速机37
	171020-卓大减速机38
	171020-卓大减速机39
	171020-卓大减速机40
	171020-卓大减速机41
	171020-卓大减速机42



